MAT 201, Final Exam, Spring 2016

Instructions: Show all w
credit. Some questions

unless specifically asked to estimate.
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may contain multiple parts: be sure to answer all of them. Give exact answers

1. Find the average value of f(x,y) =5 —xyover0 < x < 5,0 < y < 1. (8 points)
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4. Find the position vector of a particle with d(t) = 2ti + sin b] + cos 2t k, $(0) = 1,#(0) = J. (10 points)
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9. Find the work done by the field F(x y) = x*1 + xyj as the ﬁ)artlcle moves around the circle
x2 + y? = 4 counterclockwise. (10 points)
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12. Find the functio

of curvature at t

n of the curvature for the equation y = xex% Then use it to estimate the radius
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15. Find the Jacobiar
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18. Evaluate f; ;y esz dxdy by sketching the region and changing the order of integration. (10 points)
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19. Graph the space curve #(t) = 2sint { + tj + 2 cos t k. (14 points)
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21. Match each func

v

ction to its set of level curves. (6 points each)
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